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sconomic development and population growth.

studies the relationship between

(1) Beonomic theory (hy Cammodity theory

()  Income theory (d) "Transition theory

Second green revolution is introduced in the year

(a) 1960 (by 1970

(¢) 1980 (d) 1990
a state in which the firm performs

badly, incurs contintous losses for many years,
raises money for its survival from otitside soirees

(a) Tndustrial growth
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One of the Objectives of new industrial policy is

(2) Liberty in licensing

() Increasing public sector

{(¢) Prohibition of private sector

(d) All of these

Value of goods or services produced by a country
during the year is called as

(a) Gross domestic product

(b) Net national product

(¢) National income

(d) National expenses

Faster, “More Inclusive and Sustainable Growth”
is the main theme of

(a) Sixth five year plan
(b) Eighth five year plan
(¢c) Tenth five year plan
(d) Twelfth five year plan

Expansion of GATT

(a) General agreement for tariff and trade

(b) General arrangement fortariff and trade

(¢} Government agreement for tariff and trade
(d) Government arrangement for tariff and trade
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12.
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PART B — (5 x 5= 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 woids.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

What do you mean by Under development?
Or

List down the economic factors determining

development.

Brief about Recent Population policy in India.
Or

State the Methods of Measuring National
Income.

Write a short note on Second Green
Revolution in India.

Or _
Point out the Features of Agriculture.

What do you mean by Small Scale Industries?
Or
Write the Industnal Policy before 1991 in
India.
Point out the objectives of five year plans.
Or
Differentiate GATT from WTO.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (0)-

" Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

()

Explain the Non-economic factors aS

Determinants of Under Development.
Or

Enumerate the Characteristics of under
development.

What are the difficulties in measuring

National Income.

Or
Narrate the population Growth as a Retarding
Factor. 1 _ 3 ‘

Elucidate  the methods to  Improve
Agricultural Productivity.
Or

Describe the measures for removing food

' problém in India.

Discuss the Role of small scale sector in
Indian economy.

Or
Explain the objectives of New Industrial

Policy 1991.
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20. (@) Delineate about the three year action Plans in

India.
Or _
(b) Elucidate the impact of WTO in Indian
Economy.
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